
COPIA SUL QUADERNO E CALCOLA IN RIGA, SEGUENDO L’ESEMPIO. 

56 : 8 = 7 
 

infatti 7 X 8 = 56 

30 : 6 = 
 

Infatti  

48 : 8 = 
 

Infatti  

32 : 4 = 
 

infatti  

10 : 2 = 
 

infatti  

27 : 3 = 
 

infatti  

28 : 7 = 
 

infatti  

36 : 4 = 
 

infatti  

16 : 8 = 
 

infatti  

35 : 5 = 
 

infatti  

42 : 6 = 
 

infatti  

12 : 1 = 
 

infatti  

56 : 7 = 
 

infatti  

24 : 6 = 
 

infatti  

40 : 5 = 
 

infatti  

4 : 2 = 
 

infatti  

21 : 3 = 
 

infatti  

54 : 9 = 
 

infatti  

24 : 4 = 
 

infatti  

8 : 2 = 
 

infatti  

72 : 9 = 
 

infatti  

64 : 8 = 
 

infatti  

18 : 6 = 
 

infatti  

81 : 9 = 
 

infatti  

 


